ﬂé Rounding to Sum

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

Name:

In one month afurniture store sold 887 plastic chairs and
519 wooden chairs. To the nearest hundred, how many
chairs did they sell total?

Over the summer Henry earned 400 dollars mowing lawns
and another 287 dollars trimming weeds. To the nearest
ten, how much money did Henry make total ?

At the bank, a customer turned in 483 dimes and 827
nickels. To the nearest ten, what is the total number of
coins the customer turned in?

At a hotdog eating contest, in the first round 137 hotdogs
were eaten and in round two another 560 were eaten. To
the nearest ten, how many hotdogs were eaten total ?

At the dog show there were 919 large dogs and 259 small
dogs. To the nearest hundred, how many dogs were at the
dog show?

At Emily's school there are 349 studentsin 3rd grade and
614 studentsin 4th grade. To the nearest ten, how many
students were there in both grades?

In amonth, avideo store rented out 949 action movies and
586 other types of movies. To the nearest ten, what isthe
sum of the movies they rented in a month?

For anew year's party 874 red balloons and 395 green
balloons were used. To the nearest ten, what is the total
number of balloons used?

A zoologist was checking the weights of two gorillas.
Gorilla A weighed 603 pounds and gorilla B weighed 122
pounds. To the nearest hundred, what is the combined
weight of both gorillas?

Will was playing games at the arcade. He won 644 tickets
from the basketball game and 897 tickets from whack-a-
mole. To the nearest hundred, how many tickets did he get
total ?

Answers

10.
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Rounding to Sum Name Answer Key
Solve each problem. Answers

In one month afurniture store sold 887 plastic chairs and 900 + 500 887 + 519
519 wooden chairs. To the nearest hundred, how many 1400 1406 = 1400 | 4 1,400
chairs did they sell total?

2. 690
Over the summer Henry earned 400 dollars mowing lawns 400 + 290 400 + 287
and another 287 dollars trimming weeds. To the nearest 690 687 = 690 3 1,310
ten, how much money did Henry make total ?

4. 700
At the bank, a customer turned in 483 dimes and 827 480 + 830 483 + 827
nickels. To the nearest ten, what is the total number of 1310 1310=1310 || 5 1,200
coins the customer turned in?

6. 960
At a hotdog eating contest, in the first round 137 hotdogs 140 + 560 137 + 560
were eaten and in round two another 560 were eaten. To 700 697 = 700 7 1,540
the nearest ten, how many hotdogs were eaten total ? '

8. 1,270
At the dog show there were 919 large dogs and 259 small 900 + 300 919 + 259
dogs. To the nearest hundred, how many dogs were at the 1200 1178 = 1200 9 700
dog show? '

0. 1,500
At Emily's school there are 349 studentsin 3rd grade and 350 + 610 349 + 614
614 studentsin 4th grade. To the nearest ten, how many 960 963 =960
students were there in both grades?
In amonth, avideo store rented out 949 action moviesand 950 + 590 949 + 586
586 other types of movies. To the nearest ten, what isthe 1540 1535 = 1540
sum of the movies they rented in a month?
For anew year's party 874 red balloons and 395 green 870 + 400 874 + 395
balloons were used. To the nearest ten, what is the total 1270 1269 = 1270
number of balloons used?
A zoologist was checking the weights of two gorillas. 600 + 100 603 + 122
Gorilla A weighed 603 pounds and gorilla B weighed 122 700 725=700
pounds. To the nearest hundred, what is the combined
weight of both gorillas?
Will was playing games at the arcade. He won 644 tickets 600 + 900 644 + 897
from the basketball game and 897 tickets from whack-a- 1500 1541 = 1500

mole. To the nearest hundred, how many tickets did he get
total ?
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ﬂé Rounding to Sum Name:

Solve each problem.

7

1,310 1,400 1,540 690 700

700 1,270 1,500 1,200 960

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

In one month afurniture store sold 887 plastic chairs and 519 wooden chairs. To the
nearest hundred, how many chairs did they sell total ?

Over the summer Henry earned 400 dollars mowing lawns and another 287 dollars
trimming weeds. To the nearest ten, how much money did Henry make total ?

At the bank, a customer turned in 483 dimes and 827 nickels. To the nearest ten, what is
the total number of coins the customer turned in?

At a hotdog eating contest, in the first round 137 hotdogs were eaten and in round two
another 560 were eaten. To the nearest ten, how many hotdogs were eaten total ?

At the dog show there were 919 large dogs and 259 small dogs. To the nearest hundred,
how many dogs were at the dog show?

At Emily's school there are 349 studentsin 3rd grade and 614 studentsin 4th grade. To the
nearest ten, how many students were there in both grades?

In amonth, avideo store rented out 949 action movies and 586 other types of movies. To
the nearest ten, what is the sum of the movies they rented in a month?

For anew year's party 874 red balloons and 395 green balloons were used. To the nearest
ten, what is the total number of balloons used?

A zoologist was checking the weights of two gorillas. Gorilla A weighed 603 pounds and
gorillaB weighed 122 pounds. To the nearest hundred, what is the combined weight of
both gorillas?

Will was playing games at the arcade. He won 644 tickets from the basketball game and
897 tickets from whack-a-mole. To the nearest hundred, how many tickets did he get total ?

Answers

10.
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